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1. (i) What are carbenes ?

Time : 3 Hours ] [ Maximum Marks : 80 (i) Complete the following reaction :

Note .— The question paper is divided into three Sections
o a pap Y foret it @1 ol IR

A, B and C. Write answers as per the given
instructions. CH,NH,

- HNO,
et - o wwA-um ‘o, ‘9 IR ‘| A wvel # fawfsa ®) H,0"
JIF WIS & RIMTIR U9+ & IW SIS |
Section-A 8x2=16 (ii1) What are pericyclic reactions ?

(Very Short Answer Type Questions)

Wi a Afufsward s et § 2
Note .— Answer all questions. As per the nature of the

question delimit your answer in one word, one (iv) Define IC and ISC.

IC wa ISC =i uftnfom wifsm)

sentence or maximum up to 30 words. Each
question carries 2 marks.
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(v) Complete the following reaction : Section-B 4x8=32

e erfufsan =1 qof ife (Short Answer Type Questions)
Note .— Answer any four questions. Each answer should not
O exceed 200 words. Each question carries 8 marks.
A hv
O D gus—d
(g 3THT T99)
(vi) What is Norrish type II process ? et .- fF=l = uvel & S ST e e SW oW
sfererae 200 gl W OfEfgd wifsw ) gdw 99
iRt R 11 fafy o0 ot & 2 .
8 3% H T
(vii) Which photosensitive pigment is present in 2. Write short notes on the following :
rods and cones ? Frafafes w dfea fewfirar fafeu .
T qA IH H DA GHRT IS qUH ST (i) Carbonium ion
qa T ? FHEEE e

(ii)) Nitrenes.
RIECARN
3. Explain the following :
=1 =t =areEn ﬁﬁﬂl :
(i) Memory effect
fq gy
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(viii) Draw 1, 1-dimethylcyclohexane, indicating
which methyl group is axial and which is

equatorial.

1, 1-sEafocmmsaiese s, ST g9nar § &
HIE A TE afg ¥ SR wme fRefa § 2



(ii)) Benzil-Benzilic acid rearrangement.

SfSra-dfSfas o7 qaeiase |

. Discuss elimination reaction versus substitution

reaction.

foeam sfufeenr s9m gfaeemmw sAfufesn w ==
Eaisi

. Explain  photochemical  isomerisation  of
tetrasubstituted benzene.

TIfAEAT S & YT TEEeh THEHS R0 hi
AT HITY |

. Describe sigmatropic rearrangement and its types

with example.

gty qAfd=mg iR 9% YRl &1 SSeXul |fed
ol IS

. Explain di-n-methane rearrangement.

TE--HoA YIHTE I FHERY |

. Explain the various conformations of n-butane

with suitable diagram.
n-=eA & faf Fwul w1 Suge o9 ® eI |
HHATST |
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9. Discuss the conformations of monosubstituted

cyclohexane.

Tl Fiaefud Tsaeieaiy & &Yl &1 90 hifed |
Section—C 2%x16=32
(Long Answer Type Questions)

Note .— Answer any two questions. You have to delimit
your each answer maximum up to 500 words.

Each question carries 16 marks.
gus—H
(& s ue)
e .- forsl S wel & SR SIS 3T ot SR Stfiehan
500 v T wfifad T Y&E T 16 3% H T
10. Write short notes on the following :
frefafea w— 9w femfrt fafex .
(i) Neber rearrangement
RIEI R ERE IS

(i1)) Schmidt rearrangement
e qA=tasen
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(iii) Hofmann rearrangement (ii)) Paterno-Buchi reaction

s g et v
(iv) Shapiro reaction. (ii1) Barton reaction
I AR | e eAfafean

11. Explain the following :
=1 =t = s
(i) Chelotropic reactions
ERCUREEIR Rl
(i) [2 + 2] Cycloaddition of Ketenes

(iv) Photochemical formation of smog.

Y T YR THEE TS |

13. Write a note on conformational effects in six

membered heterocyclic rings.

B: e faumesg 9o@ # gedd g9e W U

HIEE & [2 + 2] TR AR faogoft fefe |
(ii1) Cope rearrangement

FY g

(iv) Fluxional tautomerism.

ENERSE NI ICRERIT
12. Write short notes on the following :
frafafes w= dfya feufirl fafen
(1) Norrish type I process
Aier g 1 fafy
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